
Question -1)

Statement: The World Bank estimates that about 10 million square kilometers of forests have been
lost since the start of the 20th century due to unsustainable practices.

Conclusion: Forest restoration efforts are essential to mitigate the damage caused by deforestation.

A. Only the statement is correct.
B. Only the conclusion is correct.
C. Both the statement and conclusion are correct.
D. Neither the statement nor the conclusion is correct.
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Question -2)

Statement: The Van Mahotsava program in India, initiated in 1950, aims to celebrate the importance
of tree planting annually.

Assumption: Mass tree planting drives alone are sufficient to restore degraded ecosystems.

A. Only the statement is correct.
B. Only the assumption is correct.
C. Both the statement and assumption are correct.
D. Neither the statement nor the assumption is correct.

Question -3)

Statement: The criticism of tree planting drives often includes concerns about their effectiveness in
promoting biodiversity.

Inference: Government-led tree planting initiatives are typically more successful in achieving
ecosystem restoration goals.

A. Only the statement is correct.
B. Only the inference is correct.
C. Both the statement and inference are correct.
D. Neither the statement nor the inference is correct.

Question -4)

Statement: Tree planting in grasslands and animal habitats can have unintended negative
consequences.

Assumption: All tree planting initiatives are designed with careful consideration of their ecological
impact.

A. Only the statement is correct.
B. Only the assumption is correct.
C. Both the statement and assumption are correct.
D. Neither the statement nor the assumption is correct.

Question -5)

Statement: The Bonn Challenge aims to restore 350 million hectares of degraded landscapes by
2030.

Evaluation: The Bonn Challenge has been criticized primarily for its lack of specific targets and
measurable outcomes.

A. Only the statement is correct.
B. Only the evaluation is correct.
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C. Both the statement and evaluation are correct.
D. Neither the statement nor the evaluation is correct.

Question -6)

Statement: India has faced challenges in achieving its forest restoration targets due to issues like
encroachment and loss of forest land. Relevance: These challenges have hindered India’s efforts to
fully capitalize on its tree planting initiatives.

A. Only the statement is correct.
B. Only the relevance is correct.
C. Both the statement and relevance are correct.
D. Neither the statement nor the relevance is correct.

Thank you for attempting!!!
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